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1.) (8 pts tot, 4 pts each) Calculate the distance between the given points.
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2.) (8 pts tot, 4 pts each) Find the midpoint of the segment joining the two points.
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3.) (8 pts tot, 4 pts each) Find the x- and y-intercepts and graph the corresponding lines.

a) y=-3x+2 )(»M-Wwp“‘ K=

3
=0 : =
s e e 4j,m5-&rcap
”Oz,. s gee
-2 =-5X - «3(0)*2.
=

0 =x+bx-27 Y- reept
x*abx - 27 x
Yy Gx +q = 36 griiin
2o bl >
2 S ok
Ve e Ci#fé) \-j 5
3)  (r3)'-3e-0
4.) (8 pts tot, 4 pts each) Write the equation of the cnrcle |n standard form.
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5.) (8 pts tot, 4 pts each) State the center and radius of the circle with the given equation.
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6.) (8 pts tot, 4 pts each) Find the center and radius of the circle.
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7.) (8 pts tot, 4 pts each) Find the slope of the line that passes through the given point.
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8.) (8 pts tot, 4 pts each) Write the equation in slope-intercept form. Identify the slope and
the y-intercept.
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9.) (8 pts tot, 4 pts each) Write the equation of the line in both point-slope and
slope-intercept form.
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b) Slope: m = 0 y-intercept: (0, -4)
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10.) (8 pts tot, 4 pts each) Write the equation of the line that passes through the given
point. Express the equation in slope-intercept form.
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11.) (8 pts tot, 4 pts each) Find the equation of the line that passes through the given
point and also satisfies the additional piece of information.
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12.) (4 pts each) Write an equation that describes the variation.

a) P varies inversely with r?

13.) (8 pts tot, 4 pts each) Write an equation that describes the variation.

a) y varies inversely with both xand z; y =32, x =4,z =0.05
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